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Answer all the guestions (78 Mavks)

1. Name the chemical technique for ing the following - | |
(i) Copper (II) oxide and (1 Mark)

(i) Propane (b.p 58C) from a mixture of propane and water. (1 Mark)
2. Pure water can be obtained from sea water by using the apparatus below.

(a) Why is the thermometer placed in the position shown in the figure? (2 Marks)

(b) Why is the distilled water collected in the conical flask unhkeiy to contain any dissoived
salts? How can you show that this is true? {3 Marks)

() Name industrial process where fractional distillation is applied in separating substances. (2 Marks)
3. Tlustrate by the aid of a diagram, how one would collect Hydrogen gas in the laboratory. (5 Marks)

4. Define the follbwmg terms : - 4 S .
(a)Atomxcnumbef x e e (2 Marks)

B G LR Lot E S S Y

(6 Miass number Trm—— (& Marks)

"(c) Oxidation number o | | (2 Marks)

(d)hﬁmﬁmaugy T T T ( Marks)

5. Mmmmuneﬂd&emmw?
Exampk:Ca(NO,)z—9a-s o | |
G)NaSO,= ——atoms o | (1 Mark)
(“)Hms“"*—f'?-fﬁ;‘m R L - (1 Mark)
(@) (NH,). doms (1 Maxk)

(iv) Mg (NC. )z- . atoms (1 Mark)

RRNGAL S g (1 Mark)
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6. Write the chemical formula of:

(a) One molecule of Helium gas 4 (1 Mark)
(b)Sodmm sulphate (1 Mark)
'(c) Zinc oxide (1 Mark)
(d)Sodmmchlonde ..................................... ‘ lMark)
S P P we A lMark)

; A"}ﬁéiﬁi}é'éi«;{ﬁéﬁf'ﬁ'ﬁég.g.\'r':;ié}'\&'&'i"Wﬁfé'&gi&ﬂ.fﬁé'faﬁﬁﬁi;;&f-iﬁ .................................................

(i) Oxide (1 Mark)
(n) e T ) lMark)
(m)Carbonate ...................................................................................... ( lMark)
(1v)Sulphate ................................................. i Mk
(v)Hydroxxde .................................. RS

‘. 1'3';{1'5{{&;'iﬁé’%‘l’]‘é;{;;{{g'éﬁé}}i}'é;i'é&i{i;{aaﬁg"""""’ ........................................................................................

OHS+SO,-HO+S (2 Marks)
(n)NaCl+Pb(NO)—->PbCl+NaNO .................................................................................... (2Marks)
YT e ——>CaC12+CO+HO ................................................................................. & s,
S N e S,
(v)P{s\ . +0(g) : %PZO(S) .......................................................................................................... (2Marks)
(v1)Hg(s)+02(g)——>2HgO(s) ....................... (2Marks)

....................................................................................................................................................................

symbols of the elements).

T [ Te
ol : Q
T at - R|ls| |a
v o ' ulz

(1) Which element will require the least amount of energy to remove one of the outer-most electrons?
Give a reason for your answer. (2 Marks)

.....................................................................................................................................................................

....................................................................................................................................................................

(1)) Which name is given to the famxly of element to which
(a) Elements G and A belongs

10. Use the table-below to answer questions that follow
Element T [V VvV Iw|X Y

Atomicnumber | 12 | 13 | 14 | 18 | 168 | 17

ity

o S iR P



Powered by: www.manyamfranchise.com

() Gwe;he;leclromc anangementof TSN S I R “ ?

....... Elemntw - Tevesetancsetanatcancncananrsanansonnnsssansenasareanansnon (IN..I.;l.() 3%
Element X s (1 Mark)

T Element YT (1 Mark)

.................................................

.......................................................................................

.....................................................

(ii1) Give the formula of the compound formed between U and V. (2 Marks)
"(iv) Which of the jons 3G+ and 33 15 more stable? ‘Explain. (2 Marks)
(v) Define the term “energy level. s (1 Mark)

..............................

11. Astudentwasaskedtodetermmethepercentageofzmcmetalmamtxmreofzmcmtalandzmconde
He reacted the mixture with excess hydrochloric acid and accurately collecmd the gas evolved, which was
then used to calculate the amount of zinc in the mixture.

a) Name the gas that was evolved? (2 marks)

........................... veor

(b) Apart from the reaction liberating the gas write a balanced equation for the other reacuon(glat tokzl): place
marl

......................................................

“ssececncnn e e et r e e et e st e st st rtnaranratrrstrocctisnartnsrastoemeressnssssssueasesssnseonrransnasons

12. The table below shows some pr OYemesofelementsmpenodt}mofthepetmdlc table. (Thelettersdo
‘not represent actual symbols of the elements)

Element R T I Q |V X G
'Atomic size (nm) 0.125 10.110 }0.136 3.117 0.104 10.156 .
M.P (0C) : 660 442 1650 [1410 f113 |98
Ehcmealconducuvnty Good [Poor {Good |Poor }Poor |Good
Formula of oxide RO, |T0, Q0 "[VO, |XO, |[GO
a) (i) UmngmeMmlcmhxgwemanmxgemeelememsasmeyappexmdtpeﬂod (1 mark)
(n)Co;mnentonthe trend of atomic sizes as arrang@dm a(i) above. 2 marks) :
b) Which element is hkelytobesulphurExplmn '''' ) ¢1 mark)
c) Element T has two ;xxelur.g pomtvalues Explam (1 mark)
d) E%Eiéiiii?&ii;’ii{é'ﬁiéiﬁiié’ﬁ&ﬁi’&'f"ﬁé’iimch mgimmmcﬂ' Q marks)

...........................................

...............................

€) Anoxnde ofG Wasplacedmwaterosmtaxmng phemlphﬂmlmnm&aﬂm' Expiamtheabservamﬂxat '
wasm@ci;ﬁ T (J;mk)
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" | CHEMISTRY MARKING SCHEME FORM 2

1. (i) Crystallization
(ii) Simple distillation

2. (a) To ensure that temperature does not rise beyond 1000C
(b) -It is impossible. for the solute to escape to the delivery tube
_‘with the vapour
- Finding the boiling point of water collected. Pure water boils
;.at 1000C -
(c) - Separation of crude oil
- Brewing of alcohol (pure ethanol)

4. (2) No-of peotons in the nucleus of an atom

(b) The number/total/sum of protons and neutrons in the nucleus of

an atom
(c)'l‘hed:mgeonmeresultmglonwhenanawmlowsmgmns

electrons

(d) Energy required by an atom to lose electrons in gaseous state
5.(i)6

(i) 5

(iii) 14

(iv)9

v) 14
6. (a) He

(b) Na2SO4

(©)Zn0 |

(d) NaCl

(e) PbCO3
7. (a) X0

(b)yXCi2 -

(c) XCO3

(d) XS04

(e) X(OH)2

8. (i) 2H2S + SO4 ® 2H20 + S
(ii) 2NaCl + PH(NO3)2 ® PbCl2 + 2NaNO3
(iii) CaCO3 + 2HC1 ® CaCl2 +C02+H20
(iv) Balanced
(V) 4P + 302 ® 2P203
(vi) 2Hg + 02 ® 2HgO

9. (i) V=The outermost electron is the farthest in V than in T or O. The

force of attraction to the positive nucleus in V is the least
(i1) (a) Noble gases
(b) Alkali metals
- (iii) The same box (position) as R
(iv)25

10. (i) 2.83
2.8.5

286
28.7
(ii) Period 3: They have three energy levels
(iii) U4V3 ’
(iv) X2- = When X gains 2 electrons it forms a stable octet
(v) The specific site from the nucleus where electrons are
located ' )

11. a) Hydrogen gas. 2mk .
b} ZnO(s) +2HCl(aq) . ZnC12 + H20(}) 2mk

¢) It’s a stronger oxidizing agent and so would oxidize some of the
gas formed to water.

12.a)i) G,Q,R,V,T, X0
(No other order)

1 mark

ii} Atomic size decreases [l across the pesiod; due to increase
in nuclear charge '
hence electrons pull £ % towards the nucleus stronglyll ¥4  —

2mks
b) Elementl% x ; has a low melting point // has a meltmg point of
113

¢€)  Its alletropicll

d) 'V has covalent bonds 0 % with giant atomic structure which
requires a lot of heat to break while T has simple 0 % molecular.
structure held by weak intermolecular forces whnch are easily
broken.

e) . Solution turns pink {1 ¥2; oxlde form an alkaline solution in water
%

f) R203 0%/ oxide of R; Amphotericll '/:

g2) Q mode of conductivity :- molten § % or sohd conducts by :
delocalized electronsl ¥4

Qa mode: Maltenl % or in solution conducls by: tree ions 0 ¥4 //
mobile ions.




